
Subject: Re: Convolution of two equally sized arrays
Posted by mperrin+news on Fri, 10 Dec 2004 06:59:32 GMT
View Forum Message <> Reply to Message

Benjamin Hornberger <benjamin.hornberger@stonybrook.edu> wrote:
>  But anyway, it doesn't work because IDL wants the kernel to be smaller 
>  than the array. Do I have to write my own convolution function?

Not this time! The convolve() function, from the IDL Astronomy 
library, does precisely what you want. You can download it from
idlastro.gsfc.nasa.gov. Enjoy. :-)

 - Marshall
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